
Operaciones con Enteros (D)
Emplee una estrategia de enteros para encontrar cada respuesta.

-93 + 19 = 680 ÷ -17 = 61 + -44 = 

34 × -61 = -76 - 84 = -87 - -47 = 

-26 - -80 = 8160 ÷ -96 = 7 × 25 = 

-96 - -69 = 93 + -36 = -35 + -96 = 

57 - 81 = 833 ÷ 49 = 5508 ÷ 68 = 

-17 + -95 = -81 - 9 = 95 + 63 = 

-91 × 72 = -62 × -69 = -2964 ÷ 39 = 

9 × -18 = 3 × 32 = -88 - -57 = 

-22 + -3 = 52 - -48 = -3003 ÷ -33 = 

-19 - -30 = 96 + -25 = 24 + -1 = 
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Operaciones con Enteros (D) Respuestas
Emplee una estrategia de enteros para encontrar cada respuesta.

-93 + 19 = 680 ÷ -17 = 61 + -44 =
= -74 = -40 = 17

34 × -61 = -76 - 84 = -87 - -47 =
= -2074 = -160 = -40

-26 - -80 = 8160 ÷ -96 = 7 × 25 =
= 54 = -85 = 175

-96 - -69 = 93 + -36 = -35 + -96 =
= -27 = 57 = -131

57 - 81 = 833 ÷ 49 = 5508 ÷ 68 =
= -24 = 17 = 81

-17 + -95 = -81 - 9 = 95 + 63 =
= -112 = -90 = 158

-91 × 72 = -62 × -69 = -2964 ÷ 39 =
= -6552 = 4278 = -76

9 × -18 = 3 × 32 = -88 - -57 =
= -162 = 96 = -31

-22 + -3 = 52 - -48 = -3003 ÷ -33 =
= -25 = 100 = 91

-19 - -30 = 96 + -25 = 24 + -1 =
= 11 = 71 = 23
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